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How tall are high school seniors in Michigan? Attached are the heights of all 50 high school
seniors at a small high school in the upper peninsula.
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1. Make a guess at the mean of all 50 students. Make another guess of the standard deviation
of all 50 students.
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2. Abunch of students in an AP Stats class each selected several random sample of 5 heights
and calculated the mean height for the sample. They then made a class approximate
sampling distribution of the sample means, x. (shown below)
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3. Describe the shape, center, and variability of this dotplot.
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3. Describe the shape, center, and variability of this dotplot.
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3. Describe the shape, center, and variability of this dotplot.
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Sampling Distribution for a Difference in Proportions
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3. Describe the shape, center, and variability of this dotplot. 7
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4. Compare the population and sampling distributions above. How are the dotplots similar?

How are they different?
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4. Compare the population and sampling distributions above. How are the dotplots similar?

How are they different?
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Sample Means
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AP® Exam Tip |

Notation matters. The symbols P, X, n, p, i, o, Up, 0p, Pz, and o% all
have specific and different meanings. Either use notation correctly—or
don’t use it at all. You can expect to lose credit if you use incorrect

notation.
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Sampling from a Normal Population

We have described the mean and standard deviation of the sampling
distribution of a sample mean X but not its shape. That’s because the shape
of the sampling distribution of X depends on the shape of the population
distribution.

mean= 16.00 Parent population (can be changed with the mouse)
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Sampling from a Normal Population

We have described the mean and standard deviation of the sampling
distribution of a sample mean X but not its shape. That’s because the shape
of the sampling distribution of X depends on the shape of the population
distribution.

mean= 16.00 Parent population (can be changed with the mouse)
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Sampling from a Normal Population

We have described the mean and standard deviation of the sampling
distribution of a sample mean X but not its shape. That’s because the shape
of the sampling distribution of X depends on the shape of the population

distribution.

If the population
distribution is Normal,

then so is the sampling
distribution of x .
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sample size is.
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Check Your Understanding - The length of human pregnancies from conception to birth varies
according to a distribution that is approximately Normal with mean 266 days and standard
deviation 16 days.

1. Find the probability that a randomly chosen pregnant woman has a pregnancy that lasts for
more than 270 days.
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Check Your Understanding - The length of human pregnancies from conception to birth varies
according to a distribution that is approximately Normal with mean 266 days and standard
deviation 16 days.

1. Find the probability that a randomly chosen pregnant woman has a pregnancy that lasts for
more than 270 days.
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Suppose we choose an SRS of 6 pregnant women. Let X = the mean pregnancy length for the
sample.

2. What is the mean of the sampling distribution of X ?

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.

4.Find the probability that the mean pregnancy length for the women in the sample exceeds
270 days.




December 09, 2019

Suppose we choose an SRS o@ngnant women. Let X = the mean pregnancy length for the
sample. n= (0

2. What is the mean of the sampling distribution of X ? /{/,)( — /u\ - Q\(ﬁ b

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.

4.Find the probability that the mean pregnancy length for the women in the sample exceeds
270 days.

Suppose we choose an SRS @ngnant women. Let X = the mean pregnancy length for the
sample. n= (0

2. What is the mean of the sampling distribution of X ? /{/’X — /u\ = Q(O b

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.
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4.Find the probability that the mean pregnancy length for the women in the sample exceeds
270 days.
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Suppose we choose an SRS o@ngnant women. Let X = the mean pregnancy length for the
sample. n= (0

2. What is the mean of the sampling distribution of X ? /{/,X — }/\ - Q\(ﬁ b

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.
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4.Find the probability that the mean pregnancy length for the women in the sample exceeds
270 days.
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Suppose we choose an SRS @ngnant women. Let X = the mean pregnancy length for the
sample. n= (0

2. What is the mean of the sampling distribution of X ? /{/’X — /u\ = Q(O b

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.
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4.Find the probability that the mean pregnancy length for the women in the sample exceeds

270 days. 3 (%b )b 53\)

AN

/////
A




December 09, 2019

Suppose we choose an SRS o@ngnant women. Let X = the mean pregnancy length for the
sample. n= (0

2. What is the mean of the sampling distribution of X ? /{/,X — /u\ - Q\(ﬁ b

3. Calculate and interpret the standard deviation of the sampling distribution of X and Verify
that the 10% condition is met.
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